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Define “Marginal costing”. Distinguish between marginal and absorption
costing. (5)

How management accounting is different from financial and cost
accounting ? (10)

OR

Briefly explain any five circumstances under which selling price may be fixed

at a price which is less than variable cost? 5).
Differentiate between relevant and irrelevant cost. (5)
Differentiate between Absorption and Marginal costing. (5)
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2. A company budgets for a production of 1,00,000 units. The variable cost per unit

is Rs. 15 and fixed cost is Rs. 5 per unit. The company fixes its selling price to

fetch a profit of 20% on cost.

Calculate :

(i) P/V ratio

(i) BEP
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(i) Ifit reduces its selling price by 5%, how much does the revised selling price
affect the BEP and the P/V ratio ?

(iv) If a profit increase of 10% is desired more than the budget, what should be
the sales at the reduced prices ? (15)

OR

Given below are the sales and profits of the two halves of the year:

Ist half IInd half
Sales Rs. 100,000 Rs. 1,20,000

Profit Rs. 30,000 38,000

Fixed cost remains same for the two periods. Selling price and variable cost per

unit remain unchanged. Calculate the following :
(i) P/V ratio for each half and for the year.
(i) Fixed cost for each half and for the year.
(iii) BEP for each half and for the year.

(v) Annual sale to earn annual profit of Rs. 90,000. | , (15)
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3. The standard rr;aférial cost to produce one tone of Chemical Z is:
300 kg. of material A @ Rs. 10 per kg.
400 kg. of material B @ Rs. 5 per kg.

500 kg. of material C @ Rs. 6 per kg.
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During a period 100 tones of Chemical Z were produced from the usage of :

35 tones of material A at a cost of Rs. 9000 per tone
42 tones of material B at a cost of Rs. 6000 per tone
53 tones of material C at a cost of Rs. 7,000 per tone
Calculate material variances. ' ' (15)

OR

AB Ltd furnishes the following information relating to budgeted sales and actual
sales for March 2015 :

Budgeted Actual
Quantity Price per unit Quantity Price per unit
A 5000 5 6000 6
B = 4000 6 5000 - 5
C 3000 7 4000 8

Calculate :
(i) Sales quantity variange
(i) Sales mix variance
(iif) Sales price variance
(iv) Sales Volume variance and

(v) Sales value variance | (15)
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4. (a) For production of 10,000 Bread Toasters, the following are budgeted

expenses :
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(b)

7
. Per unit Rs.

Direct materials ' o 60
Direct labour ' 30 |
Variable overheads 25
Fixed Production overheads (Rs. 1,00,000) | 10
Direct expenses ‘ 5
Selling expenses (10% fixed) . ” v 15 |
Adminiétration expenses (Rs 50,000 v

fixed for all levels of production) 5
Distribution expenses 20% fixed - 5
Cost per unit | 155

Prepare a production cost budget for 6,000, 7,000 and 8,000 Toasters.
(10)

A car manufacturing company is currently purchasing 10,000 horns per annum
from an outside supplier at Rs. 50 each. The management feels that these
horns can be manufactured and not purchased. A machine costing
Rs. 2,50,000 will be required to manufacture the item within the factory. The
machine has an annual capacity of 15,000 units and life of 5 years. The
following additional information is available :

Material cost-per unit. - - - . N “Rs. 20.00
Labor cost per unit - Rs. 10.00
Variable overhead | 100% of labor cost

You are required to advise whether —

(i) The company ‘should continue to purchase the horns from the outside
supplier or should make them in-the factory; and -

(i) The company should accept an order to supply 2,500 horns to the
market at a selling price.of Rs. 45.00 per unit. (5)

OR

PTO.
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A company has Rs. 3,750 cash in hand on 1* April, 201 5 and requires you to

prepare an estimate of cash position during the three months, April to June,

2015. The following information is supplied to you :

Months Sales | Purchases | Wages | Factory Office Selliné
expenses | expenses expens,és
February 7,500 4,500 900 750 600 450.
March 8,400 4,800 975 825 600 450:.
April 9,000 5,250 1,050 900 600 5251‘f
g/lay 12,000 6,000 1,350 1,125 600 657.;
June 13,500 6,000 1,425 1,400 700 70@

Other Information :
(i) Period of credit allowed by suppliers-2 months.

(ii) 20% of sales is for cash and period of credit allowed to customers for credit

sales is one month.
(i) Delay in payment of expenses is one month.
(iv) Income-tax of 5,750 is due to be paid on June 15, 2013.

(v) The company is to pay dividends to shareholders and bonus to workers of

Rs. 1,500 and Rs. 2,250 respectively in the month of April.

(vi) Plant has been ordered to be received and paid in May. It will cost

Rs. 12,000.

The Company wants to maintain a cash balance of Rs. 10,000 at the end of each
month for day to day requirements. Determine the amount.of surplus or deficit

(15)

of cash in each month.
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5.

Write short notes on :
(1) Responsibility Accounting
(i) Zero base budget; and
(ii) Cost reduction and Cost control | o (3x5=15)

OR

et

The following data relate to a company which makes and sells ééfnﬁuters.

March 2014 April 2014

Production volume 10,000 units 5,000 units
Sales volume 5000 units 10,000 units
Selling price per unit - Rs.50 Rs. 50
Variable production cost per unit Rs. 25 Rs. 25
Fixed production overhead incurred Rs. 50,000 | Rs. 50,000

Fixed production overheads per unit
(Being predetermined overhead absorption rate) Rs. 5 Rs. 5

Selling, Distribution & Administration cost (all fixed) Rs. 40,000 Rs. 40,000

You are required to present a cbmpér‘gt'i\-l:é‘.prbfiﬁfi-a.;ld"1‘0>ss-~state'mleht‘for each
month using : (a) Absorption costing technique and (b) Marginal costing technique.

Comment on the results obtained. (15)
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